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Instruction: First 15 minutes are allotted
for the candidates to read the
question paper.
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All questions are compulsory.

- Marks allotted to each question

are given in the margin.

Give relevant answers to the

questions.

In numerical questions, give all

the steps of calculation.

Give chemical equations

wherever necessary.
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C H, +Cl, T IFWA, 7 I 2
) C.HEC!,
ii) 0-C.H,CL
iii) p-C.H,CL
iv) C.H.CI.
¥) Y€ ST ! Hiewdl sl &

i) 5556
ii), 5556
iii) 18

iv) 018
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l. There are four alternatives for each part
of this question. Select the correct

alternative and write it in the answer-

book :

a) Ratio of o0 and n bonds in Benzene is

i) 6
iv) 8. 1
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Which of the following is artificial

sweetener ?

i)  Sorbic acid

i) Fructose

1il) Sucrose

iv) Aspartame. 1

The product in the following

reaction 1s

Sunlight
C.He +Cl,

» product

) . -CHLL
i) 0-CgH,CL
iii) p-C,H,CL

iv) C.H.Cl. 1
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The molarity of pure water is

i) 5556

i) 5556
i) 18
iv) 018 1

When camphor is evaporated, the

entropy

i) decreases

1) 1ncreases

11i)) becomes zero

iv) remains constant. 1
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i CH,—-C(CH,;),—OCH,
jjj CHa—CH=CH- CH-CH=CH,
CH,—CH,—CHj,4

Sodium metal crystallises in a body
centred cubic lattice with cell edge
4-29 A. What is the radius of sodium
atom ? 1
Explain Hess's law. 1
What are synthetic detergents ?
Write the names of any two
synthetic détergents. 1
Write IUPAC names for the following

1+1
293

compounds :
i) CH, - C(CH,;), - OCH,

jjj CHz— CH=CH- CH—CH=CH,
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1
Explain flocculation value of
electrolyte. 1
Which of the following solutions will

exert highest osmotic pressure ?

Explain with reason :
(i) O-1 M Glucose

(ii) 0-1 M Sodium chloride. 1
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NaCl crystal is in face centred cubic

( fecc ) order. Determine the number

of C1 ™ ions in a unit cell. 1

Write a note on Friedel-Crafts

reaction. 1
Fwaishar H, + 1, 2HI " H,, 1, @
HI oAl ETE’?!T@ qQEERT H HH:
9 Hoi/dAlR, 3 HE/ARI Tl
2?'H“iv1/vﬁ¢< 3 sfutwar % wng feris
! TUTT ShifoTd | 2

§) UF WUH Hie & bafEa 10 e A

20% T & S &1 A & 75% T

o R e w9

642191

(log,,2=0-3010 ) 2



11 375(YF)
) faefefEa sfufmEaet 5 A 3R B @

g A Ay
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i) CgH CONH, —&=2 A= B
1

i) C,H.COOH+A——"—2—3—

C2H5NH2 + C02 + N2

1
q) fafefaa w dfa feoon feren :

i) g AR

ii)  Fest sfuferar 1+ 1

4. a) In the reaction H, +1,&= 2HI, the
equilibrium concentrations of H,, I,

and HI are 9 moles/litre,
3 moles/litre and 27 moles/litre
respectively. Calculate the

equilibrium constant of the reaction.
2
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20% of a first order reaction
completes in 10 minutes. How much
time will be required to complete

75% of the reaction ?

(log,,2=0-3010 ) 2

Write the formulae and names of

A and B in the following reactions :
H,0

) C,H.CONH, __1:_'29_5‘:_,,4? B
1
i) C,H.COOH+A—2C72704 ,
C,H,NH, + CO, +N,
1
Write short notes on the following :
i) Darzen reaction ‘
11) Wurtz reaction. 1%}

éﬁqﬁwﬁm%ﬁﬁm

ZITeTU | | 2
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BT &1 & 2 1
=1 st HTIT : 1 + 1
i) ST
1) AI-S.

Give evidences in support of the ring
structure of Benzene. 2
Explain the following : 1 #3

i) Heterolysis

11) Enzymes.
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c) 1) Write the tests for difference

between Glucose and Starch. 1

ii) Fructose reduces Fehling's

solution although it contains

ketonic group. Why ? 1

d) Explain the following : el
i) Polymerisation

ii) Buna-S.

6. WA 99 ®H yErETen fafy @ vaEE
it fafan) ®HE § -OH WHE @
ufefd weia w@ & fou 3 vaEHs
HAfsranail o e 9t fefEy | 3

a9 ] R S € 2 1
iii) U UeHEIA H Al HERRE 3R
HI % 9y 79 fehar S € 2 1
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6. Write the chemical equation for the
laboratory method of preparation of
phenol. Also write the equations of two
chemical reactions showing the presence
of -OH group in phenol. 3

OR |
What happens when — ( Write chemical
equations only )

i)  Diethyl ether reacts with PCl_? 1

- 1) Ethyl alcohol is heated with
bleaching powder and water ? 1

i) Ethyl alcohol is heated with red
phosphorus and HI ? 1

7. YATTINCT H RIHATSEI3E SA14 @l @Y &1 auH
AT | FHHI
i) 9= NaOH Hie7 a9 |
i)  SAEEI .

O e g gt g S
BEEIEY 3
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| i1+l
7. Describe the method for the preparation
of Formaldehyde in 'laboratory. Explain
its reactions taking place with
1) concentrated NaOH solution and
11) ammonia. |
with chemical equaqbns. 3
OR
How will you obtain —
i) Mesitylene frm;n acetone ?
ii)  Chloretone from acetone ?
iil) Acetone from ‘apropyl alcohol ?
| | 1+1+1
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